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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING -~ SEMESTER - 3 * EXAMINATION — WINTER- 2016

Subject Name: Surveying

Time: 10:30 AM To 01:00 PM
Instructions:
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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Answer any seven out of ten. £2HIl SlEULL Ulcloll et W,
State principles of surveying.

udetalell el el

Give horizontal and vertical scale for longitudinal sections.

Gell collgotl VUSDEAL WSL Wal QLetl e L.

If F.B. of line AB and AC are 210° and 120° respectively, Find the angle
BAC

%l Ul AB ol AC ofl 9L Aol 210° AR 120° AafsN &l Al W&l

BAC 20t

What is the difference between the line of collimation and the axis of
telescope?

AHLAREL JuL A 2AlRSlUA A&l ARAA dAslald Al
What are the sources of error in leveling?

Aol vadl 3216t BeaHR Ut AW,

What is contour line?

AHRARWL AA g ?

How will you distinguish between a valley line and ridge line?
Vol AA 2531 dRAA dslald U 53,

What is orientation? Why it is done?

Rseuuct Ae@ 9 2 A 2l HIZ sRalHl uUA B?

How GPS works?

wUlAY Fcll A s 52 B?

State advantages of application of GPS in Civil Engineering.
RAA 8l ActHl P UlRAUCAL SLRAERA %RULA

Differentiate between plane surveying and geodetic surveying
Alg Adael Aol gHlet YTl dAall dslad RUdl.

OR
State how surveying is useful in civil engineering.

R gyadlul adatal ol Gualldl s,
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Define: Base Line, Check line and Tie line
BLUR WL, Lol WL A A=2001 2uL ofl catuaul .

OR
Calculate hypotenuse allowance for 30 m. chain when sloping ground is 20°.

200 glaaoll wlot 12 30 Hl2R AUisn U sulgERe{l oWl s,
List the instruments used for chaining and explain any one in brief.
Ulsn wdal 12 331 Altlell ofl A€l wottell o A As g5l

Al

OR
Explain reciprocal ranging with sketch.
Rl AWML ALglA 13l Al

Draw neat sketch of prismatic compass and label its parts
Qasndls swt ol ausld €13l Aetl ewol el

OR
The bearings of a closed traverse ABCD are as under. Calculate interior
angles. Apply usual checks.

Line AB BC CD DA

F.B. 40° 70° 210° 280°

ol ABCD ofl Aol ol Y@ 8. McRwglell idold
vRURAle(l 2Ll 831 %331 dlol AnAl.

Line AB BC CD DA

F.B. 40° 70° 210° 280°

Define: Magnetic declination, Local Attraction and Closing error
cqludl UL : Yol Esuld, s wusyel ual AUt A2

OR
The magnetic bearing of line PQ is S 42° E and magnetic declination is 6° E.
Find true bearing of the line.

ull PQ ofl Youlsau Aol S 420 E ol o[ (Esuld 5101 6°E 8. Al

PQ 2ulle{l Al Aot 20l
Define: Back sight, Bench Mark and Change Point
cqluAl AU : usclladlsel, dd Rga wal (Bunec (Glg.

OR
Calculate the combined correction required for curvature and refraction for a
distance 2000 m.

2000 HleRetl iR 12 yeell ofl olous e alseicotoll s
JulRA awl.

State methods of leveling and explain profile leveling in brief.

dAeale(l Il weudl 3udul dAaRl gsHi AHsLAl
OR
Draw contour plans for : Hill, Ridge, Steep slope and overhanging cliff

253, R, dy Uscl alon wal desdl Bl ol AHRUL JuLaloll ois2ll
Rl
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Enlist uses of contour.
AHLRUR VLol GuALd0 sl

OR
Write short note: Contour interval and Grade contour

ARRUL BRI Aol ARV 3L (A 25alltl AW

Explain principle of Plane Table survey.
AHUlRe ddalell Raid AHsA.

OR
State advantages of Plane Table survey.

AHUe Adaaletl stauel Al
State methods of Plane Tabling and explain any one in detail.
AHule ddawlell Al seicll ot A As ([Qotdat’ duHLA.

OR
Enlist the errors in Plane Table survey.

AU ddeatele(l 326l 2 0,

The following consecutive readings were taken with Dumpy level.

2.375, 1.730, 0.615, 3.070, 2.105, 1.835, 0.885, 2.225, 2.055 and 1.645 m.
The instrument was shifted after the fourth and eighth readings. The first
reading was taken on TBM of R.L. 110.00 m. Find the R.L.s of all the points
by using Rise and fall method.

o{lAotl As Ul As cigatisl srdlAact ad sHHl dlaa B.

2.375, 1.730, 0.615, 3.070, 2.105, 1.835, 0.885, 2.225, 2.055 o\ 1.645 m
ULl AU Wl WGHL ciUatis Ul WASCUHL AUAA . yuH
diUatls SIHAAG ctRa 110.00 m GUR llac B, otule (Blgule(l
A0el G ol alaLddl usla Gtrell el s2.

Differentiate between H.I. method and Rise and Fall method
AHLAREL dd WA UL BdlrReoll A ARAA dAslald sRUA.
Differentiate between Prismatic compass and Surveyor compass.
Q3Ndls sWwA U Ad2AR SURL Aol dslalct AUl
Explain dip of magnetic needle.

YolSau Wale] olMel AHAA

A 20 m chain was found 5 cm too short at the starting and 15 cm too long at
the end of survey. If distance measured by this chain is 1 km. Find the true
distance.

20 HleRell Aist Aoll Yo coue sl Adataloll A u AL
25l wal udauell vid au AL dicll HgH udd. A Aisa ad
HOA AR 1 Bl &lat A L idRe(l awatddl s
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